
tfbL ufpFkflnsfsf] cfly{s P]g, @)&^ 

tfbL ufpFkflnsfsf] cy{ ;DaGwL k|:tfjnfO{ sfof{Gjog ug{ ag]sf] ljw]os 

k|:tfjgfM tfbLufpFkflnsfsf] cfly{s jif{ @)&^÷&& sf] cy{ ;DaGwL k|:tfjnfO{ sfof{Gjog 
ug{sf] lgldQ :yfgLo s/ tyf z'Ns ;+sng ug]{, 5'6 lbg] tyf cfo ;+sngsf] k|zf;lgs 
Joj:yf ug{ jf~5gLo ePsf]n],  

g]kfnsf] ;+ljwfgsf] wf/f @@* sf] pkwf/f -@_ adf]lhd tfbL ufpF ;efn] of] P]g agfPsf] 5 .  

!= ;+lIfKt gfd / k|f/DeM -!_ o; P]gsf] gfd æcfly{s P]g, @)&^Æ /x]sf] 5 . 

  -@_ of] P]g @)&^ ;fn >fj0f ! ut]b]lv tfbL ufpFkflnsf If]qdf nfu" 
x'g]5 . 

@= e"ld s/ -dfnkf]t_M ufpFkflnsf If]qleq cg';"lr -!_ adf]lhd e"ld s/ -dfnkf]t_ 
nufOg] / c;"n pk/ ul/g]5 .  

#= 3/ jxfn s/MufpFkflnsf If]qleq s'g} JolQm jf ;+:yfn] ejg, 3/, k;n, Uof/]h, 
uf]bfd, 6x/f, 5Kk/, hUuf jf kf]v/L k"/} jf cf+lzs tj/n] jxfndf lbPsf]df cg';"lr 
-@_ adf]lhd 3/ hUuf jxfn s/ nufOg] / c;"n ul/g]5 .  

$= Joj;fo s/M ufpFkflnsf If]qleq Jofkf/, Joj;fo jf ;]jfdf k"FhLut nufgL / 
cfly{s sf/f]af/sf cfwf/df cg';"lr -#_ adf]lhd Joj;fo s/ nufOg] / c;"n pk/ 
ul/g]5 . 

%= lj1fkg s/M ufpFkflnsf If]qleq x'g] lj1fkgdf cg';"lr -$_ adf]lhd lj1fkg s/ 
nufOg] / c;"n pk/ ul/g]5 .t/, k|b]z sfg'g :jLs[t eO{ ;f] sfg'gdf cGoyf 
Joj:yf ePsf] cj:yfdf ;f]lx adf]lhd x'g]5 . 

^= ;]jf z'Ns, b:t'/M ufpFkflnsfn] pknAw u/fOPsf] ;]jfdf ;]jfu|fxLaf6 cg';"lr -%_ df  
Joj:yf eP cg';f/ z'Ns nufOg] / c;"n pk/ ul/g]5 . 

&= ;Dklt s/ M– ufpFkflnsf If]qleq cg';'lr -^_ adf]lhd ;Dklt s/ nufO{g]5 . 

*= s/ 5'6Mo; P]g adf]lhd s/ ltg]{ bfloTj ePsf JolQm jf ;+:yfx?nfO{ s'g} klg lsl;dsf] 
s/ 5'6 lbO{g] 5}g .  

(= s/ tyf z'Ns ;+sng ;DalGw sfo{ljlwM of] P]gdf ePsf] Joj:yf cg';f/ s/ tyf 
z'Ns ;+sng ;DalGw sfol{\jlw ufpFkflnsfn] tf]s] cg';f/ x'g] 5 . 

  



cg'';"rL 1 
dfnkf]t s/ 

l;=g+= ljj/)f b/ 
1= d'n slRr df]=af=n] 5f]Psf] k|lt /f]kgL 200 

2= lkr df]6/ jf6f]n] 5f]Psf]  k|lt /f]kgL 250 

3= zfvf  df]6/ jf6f]n] 5f]Psf]  k|lt /f]kgL 150 

4= slRr df]6/ jf6f]n] 5f]Psf]-leqL_ k|lt /f]kgL 100 

5= uf]/]6f]  jf6f]n] 5f]Psf  k|lt /f]kgL 90 

6= cGo hUufx? k|lt /f]kgL 10 

 

cg'';"rL 2 
#/ axfn s/ 

l;=g+= ljj/)f b/ 

१ घर बहाल कर बहाल रकमको १० ĤǓतशत 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



cg'';"rL 3 
Joj;fo s/sf] b/ 

 

s|=;+= sf/f]af/sf] ljj/)f r"Stf k'hL /sd btf{ z'Ns jflif{s gljs/)f 

1 vfBfGg tyf v'b|f Aofkf/ 
50 xhf/ b]lv 2 nfv ;Dd 2000 1000 
;f]eGbf dfly 2500 1200 

2 xf]^n nh Pj+ ;fwf/)F xf]̂ n 
50 xhf/ b]lv 2 nfv ;Dd 2000 1000 
;f]eGbf dfly 2500 1200 

3 dlb/fhGo÷;'tL{hGo Aoj;fo 
50 xhf/ b]lv 2 nfv ;Dd 4500 2000 
;f]eGbf dfly 5000 3500 

4 lgdf{)f ;fdfu|L xf*{j]o/ 
Aoj;fo 

50 xhf/ b]lv 2 nfv ;Dd 5000 2500 
;f]eGbf dfly 7000 3500 

5 
lghL :s'n tyf ;xsf/L 
;:yf -;xsf/L ;+:yfsf] xsdf 
25 k|ltzt gljs/)F %'^_ 

50 xhf/ b]lv 2 nfv ;Dd 7000 3500 

;f]eGbf dfly 8500 4500 

6 lu|n tyf kmlg{r/ Aoj;fo 
50 xhf/ b]lv 2 nfv ;Dd 5000 2500 
;f]eGbf dfly 5500 2000 

7 
ldn kfgL # \̂^ tyf ;fgf 
#/]n' pBf]u 

50 xhf/ b]lv 2 nfv ;Dd 2000 1000 
;f]eGbf dfly 2500 1500 

8 
Pkm=Pd=, OG^/g]^,^]lnlehg 
Rofgn,cgnfOg Go'h 

50 xhf/ b]lv 2 nfv ;Dd 5000 2500 
;f]eGbf dfly 8000 4000 

9 
t/sf/L kmfd{ df%f kmfd{, 
afv|f kmfd{, ufO{÷e};L kmfd{ 

50 xhf/ b]lv 2 nfv ;Dd 300 100 
;f]eGbf dfly 500 200 

10 O^f e§f, Ans pBf]u, vfgL 
cfbL  

50 xhf/ b]lv 2 nfv ;Dd 5000 2000 
;f]eGbf dfly 8000 4000 

11 ef+*f / lukm\^ k;n 
50 xhf/ b]lv 2 nfv ;Dd 2000 1000 
;f]eGbf dfly 2500 1500 

12 kmf]^f] :^'l*of],l^=eL=, #*L 
/]l*of], df]afOn laqmL÷dd{t 

50 xhf/ b]lv 2 nfv ;Dd 1000 
1000 

;f]eGbf dfly 1500 

13 
df]̂ /;fOsn dd{t tyf laqmL 
Aoj;fo 

50 xhf/ b]lv 2 nfv ;Dd 3000 
1000 

;f]eGbf dfly 3500 

14 kfp/f]̂ L e)*f/ 
50 xhf/ b]lv 2 nfv ;Dd 500 

500 
;f]eGbf dfly 1000 

15 

lghL c:ktfn÷cf}ifwL 
k;n÷kz' cf}ifwL k;n÷lah 
e)*f/-lghL c:ktfnsf] xsdf 
5 k|ltzt btf{ tyf 
gljs/)fdf yk z'Ns nfUg]_ 

50 xhf/ b]lv 2 nfv ;Dd 4000 2000 

;f]eGbf dfly 5500 2500 

16 ;'grf+bL k;n÷;lkª ;]G^/ 
50 xhf/ b]lv 2 nfv ;Dd 2000 

2000 
;f]eGbf dfly 3500 

17 df;' k;n 
50 xhf/ b]lv 2 nfv ;Dd 500 

500 
;f]eGbf dfly 1000 

18 
j}+s tyf kmfOgGz sDklg 
cfj$ z'Ns jflif{s 

  13000  

19 s|;/ pBf]u jflif{s z'Ns   15000  
20 dgf]/~hg Joj;fo   8000 5000 

21 oftfoft tyf s]jnsf/ 
Joj;fo 

  8000 5000 



s|=;+= sf/f]af/sf] ljj/)f r"Stf k'hL /sd btf{ z'Ns jflif{s gljs/)f 

22 cGo ;fgf Joj;fo   1000 500 
 

 

                        cg'';"rL 4 
lj!fkg s/ 

l;=g+= ljj/)f b/ 

1= 
;fOgjf]*{, Unf]jf]*{, :^n cflbdf 25 ju{km'^ eGbf 
dfly 1 jif{sf nflu 800. 

2= ;fOgjf]*{, Unf]jf]*{, :^n cflbdf 25 ju{k'm^ ;Dd 1 jif{sf nflu 500. 
3= t'n Jofg/ Ps xKtfsf] nflu  50 
4= t'n Jofg/ Ps xKtfeGbf a(L Ps dlxgf;Dd 100 
5= kf]n Jofg/ Ps xKtfeGbf a(L Ps dlxgf;Dd k|lt Aofg/ 50. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



cg'';"rL 5 
l;kmf/L;, z"Ns tyf b:t"/ 

 

l;=g ljj/)f s/ z'Ns÷b:t'/ 
s_ l;kmfl/;   
1= gftf k|dfl)ft 100 
2= /fxbfgL l;kmfl/; 200 
3= #/hUuf gfd;f/L / cGo dfnkf]t ;DaGwL l;kmfl/; 200 
4= klt kTgLsf] ;DaGw laR%]bsf] l;kmfl/; 100 
5= k]G;g sf*{ jf ;f] ;DaGwL cGo l;kmfl/; 200 
6= xsjfnf ;+/If)f ;DaGwL l;kmfl/; 100 
7= ;+# ;+:yf btf{ ;DaGwL l;kmfl/; 500 
8= lghL ljBfno btf{ / :t/ a[l$ -k|f=lj=÷lg=df=lj=÷df=lj=_ 1500/2000/2500 
9= sf& bfp/f]sf] l;kmfl/; k/ So"lkm^ 2 
10= c+u|]hL ?kfGt/ 100 
11= j+zhsf] gful/stf ;DaGwL l;kmfl/; 50 
12= c+lus[t gful/stf ;DaGwL l;kmfl/; 500 
13= gfd %'^sf] l;kmfl/; 100 

14= 
rf/ lsNnf k|dfl)ft l;kmfl/; -1 lsQfsf] ?=300. / 

300., 20. 
 ;f] eGbf e(L ePdf k|ltlsQf yk ?=20. sf b/n] 

15= ;gfvtsf] l;kmfl/; 100 
16= hGd d[To' ;DaGwL l;kmfl/; 100 
17= :yfoL a;f]af; ;DaGwL l;kmfl/; 100 
18= gfd, y/, hGd ldlt ;+zf]wg l;kmfl/; 100 
19= ;h{ldg z'Ns 500 
20= cldg z'Ns 1000 
21= ljB't h*fg ;DaGwL l;kmfl/;               
s_   cf/=;L=;L= kSsL #/ 200 
v_ cGo #/ 100 

22= ]̂lnkmf]g h*fg ;DaGwL l;kmfl/; 100 
23= lghL wf/f h*fg ;DaGwL l;kmfl/; 200 
24= rfl/lqs l;kmfl/; 200 

25= 
Knl^ª ;]jf z'NsM 2 /f]kgL;Dd, ;f] eGbf dfly s|dzM 25,000., 

10,000. / 5,000. 5 /f]kgL;Dd k|lt 1 /f]kgL / ;f]eGbf a(L k|lt 1 /f]kgL 
26= ljB't, ]̂lnkmf]g, vfg]kfgL ;DaGwL gfd;f/L l;kmfl/; 100 
27= pBf]u :yfkgf l;kmfl/;  500 
28= ejg lgdf{)fsf] ;fwf/)f :jLs[lt ;DaGwL l;kmfl/; 500 
29= %fqj[lQ ;DaGwL l;kmfl/; lgz'Ns 
30= l;kmfl/;sf] ljj/)f ;RofO{ lbPsf] lgz'Ns 
31= l;kmfl/;sf] k|ltlnkL 50 
v_ cGo l;kmfl/;   
1 lgj]bg kmf/fd k|lt kfgf 10 
2 cg';"rL 10 
3 lgj]bg btf{ z'Ns 10 
4 ejg lgdf{)f b/vf:t kmf/fd 1000 
5 klt kTgLsf] ;DaGw ljR%]b lgj]bg btf{ b:t'/ 100 
6 k/LIff ;DaGwL b/vf:t kmf/fd z'Ns 100 
7 sf]̂ ]zg kmf/fd z'Ns vl/b sfg'gsf] 



Joj:yf cg";f/ 

8 ]̂)*/ kmf/fd z'Ns vl/b sfg'gsf] 
Joj:yf cg";f/ 

9 lgj]bg gSsn k|lt kfgf 
sfof{non] ;fbf{ 5., 
cfkm}n] ;fbf{ 2. 

10 #/kfn'jf s's'/ btf{ / gjLs/)F b:t'/ 50 

11 e?jf aGb's gjLs/)f b:t'/ 
lhNnf e/ 1000., 
clw/fHo e/ 6000. 

12 #/ lgdf{)f gSzfsf] gSsn b:t'/ k|lt tnf ?=200. 
13 ldnfkq b:t'/ k|lt kIf 200 
u_ x}l;ot k|dfl)ft   
s_ C)f / j}b]lzs /f]huf/sf nflu   
1= ?=10 nfv;Dd 1,000.00 
2= ?=20 nfv;Dd 1,500.00 
3= ?=30 nfv;Dd 2,500.00 
4= ?=40 nfv;Dd 3,500.00 
5= ?=50 nfv;Dd 4,000.00 
6= ?=50 nfveGbf a(L k|To]s 10 nfvdf  500. sf b/n] yk 
v_ cWoogsf] nflu   
1= ?=20 nfv;Ddsf] 1000 
2= ?=30 nfv;Ddsf] 1500 
3= ?=50 nfv;Ddsf] 2500 

u_ c+zj)*f / bfgas;df 
3 -v_ df nfUg] 

/sdsf] 50 k|ltzt 

#_ ufpkflnsfn] tTsfn lwtf] d"Nof+sg u/]sf] l;kmfl/;sf] k"gM gjLs/)f ug'{kbf{ h'g 
k|of]hgsf nflu ul/Psf] xf] ;f]sf nflu nfUg] b:t'/sf] 5 k|ltzt /fh:j lnOg]% . 

 

 

 

 

 

 

 

 

 

 

 

 

 



cg';'rL –^ 

;Dklt s/sf b/x? 

l;=g+ ;DklQsf] ljj/0f s/sf] b/ -?=_ s}lkmot 
! ?= ! b]lv ?= %) xhf/ ;Dd @%.))  

@ ?= %) xhf/ eGbf dfly ? ! nfv ;Dd %).))  
# ? ! nfv eGbf dfly ? # nfv ;Dd  &).))  
$ ? # nfv eGbf dfly ? $ nfv ;Dd  *).))  
% ? $ nfv eGbf dfly ? % nfv ;Dd  !)).))  
^ ? % nfv eGbf dfly ? ^ nfv ;Dd  !!).))  
& ? ^ nfv eGbf dfly ? & nfv ;Dd  !#).))  
* ? & nfv eGbf dfly ? * nfv ;Dd  !$).))  
( ? * nfv eGbf dfly ? !) nfv ;Dd  !^).))  
!) ? !) nfv eGbf dfly ? !@ nfv ;Dd  @)).))  
!! ? !@ nfv eGbf dfly ? !$ nfv ;Dd  @@).))  
!@ ? !$ nfv eGbf dfly ? !^ nfv ;Dd  @%).))  
!# ? !^ nfv eGbf dfly ? !* nfv ;Dd  @*).))  
!$ ? !* nfv eGbf dfly ? @) nfv ;Dd  #)).))  
!% ? @) nfv eGbf dfly ? @@ nfv ;Dd  #%).))  
!^ ? @@ nfv eGbf dfly ? @$ nfv ;Dd  $)).))  
!& ? @$ nfv eGbf dfly ? @^ nfv ;Dd  %)).))  
!* ? @^ nfv eGbf dfly ? @* nfv ;Dd  ^)).))  
!( ? @* nfv eGbf dfly ? #) nfv ;Dd  &%).))  
@) ? #) nfv eGbf dfly ? #@ nfv ;Dd  *)).))  
@! ? #@ nfv eGbf dfly ? #$ nfv ;Dd  ()).))  
@@ ? #$ nfv eGbf dfly ? #^ nfv ;Dd  !))).))  
@# ? #^ nfv eGbf dfly ? #* nfv ;Dd  !@)).))  
@$ ? #* nfv eGbf dfly ? $) nfv ;Dd  !%)).))  
@% ? $) nfv eGbf dfly ? $@ nfv ;Dd  !&)).))  
@^ ? $@ nfv eGbf dfly ? $$ nfv ;Dd  !()).))  
@& ? $$ nfv eGbf dfly ? $^ nfv ;Dd  @!)).))  
@* ? $^ nfv eGbf dfly ? $* nfv ;Dd  @#)).))  
@( ? $* nfv eGbf dfly ? %) nfv ;Dd  @%)).))  
#) ? %) nfv eGbf dfly ? %@ nfv ;Dd  @&)).))  
#! ? %@ nfv eGbf dfly ? %$ nfv ;Dd  @()).))  
#@ ? %$ nfv eGbf dfly ? %^ nfv ;Dd  #!)).))  
## ? %^ nfv eGbf dfly ? %* nfv ;Dd  ##)).))  
#$ ? %* nfv eGbf dfly ? ^) nfv ;Dd  #%)).))  
#% ? ^) nfv eGbf dfly ? ^% nfv ;Dd  $))).))  
#^ ? ^% nfv eGbf dfly ? &) nfv ;Dd  $%)).))  
#& ? &) nfv eGbf dfly ? *) nfv ;Dd  %))).))  
#* ? *) nfv eGbf dfly ? *% nfv ;Dd  %%)).))  
#( ? *% nfv eGbf dfly ? () nfv ;Dd  ^))).))  



$) ? () nfv eGbf dfly ? ! s/f]8 ;Dd  &,))).))  
$! ? ! s/f]8 eGbf dfly ? ! s/f]8 @) nfv ;Dd *,))).))  
$@ ? ! s/f]8 @) nfv eGbf dfly ? ! s/f]8 %) nfv ;Dd ())).))  
$# ? ! s/f]8 %) nfv eGbf dfly ? ! s/f]8 *) nfv ;Dd !),))).))  
$$ ? ! s/f]8 *) nfv eGbf dfly ? @ s/f]8 ;Dd !@,))).))  

$% ? @ s/f]8 eGbf dfly ? @ s/f]8 #) nfv ;Dd !%))).))  
$^ ? @ s/f]8 #) nfv eGbf dfly ? @ s/f]8 %) nfv ;Dd !*))).))  
$& ? @ s/f]8 %) nfv eGbf dfly ? @ s/f]8 &% nfv ;Dd @)))).))  
$* ? @ s/f]8 &% nfv eGbf dfly ? # s/f]8  @@))).))  
$( ? # s/f]8 eGbf dfly ? # s/f]8 @% nfv ;Dd @%))).))  
%) ? # s/f]8 @% nfv eGbf dfly ? # s/f]8 %) nfv ;Dd @*))).))  
%! ? # s/f]8 %) nfv eGbf dfly ? # s/f]8 &% nfv ;Dd #@))).))  
%@ ? # s/f]8 &% nfv eGbf dfly ? $ s/f]8 ;Dd #%))).))  
%# ? $ s/f]8 eGbf dfly ? $ s/f]8 %) nfv ;Dd $),))).))  
%$ ? $ s/f]8 %) eGbf dfly ? % s/f]8 ;Dd $%,))).))  
%% ? % s/f]8 eGbf dfly )=!! k|ltztsf b/n] s'n d'Nodf   

 

;DklQs/ k|of]hgsf nflu 3/ ;+/rgfsf] d'Nofªsg tyf x|f; s§L b/  

 

l;=g+ ;+/rgfsf] lsl;d @)&^÷)&& sf] nflu lgwf{l/t b/ s}lkmot 
d'Nofªg b/ 
k|lt au{lkm6 

x|f;s§L k|lt 
aif{ k|ltzt 

! cf/=l;=l; klSs 3/ !))).)) !  
@ l;d]G6 hf]8fO{, h:tfsf] 

5fgf 
$%).)) @  

# 9'ª\uf df6f] hf]8fO{ slRr 
3/ 

#)).)) #  

$ lnkm\6 PS;n]6/ h8fg 
u/]sf] cf/=l;=l;= 3/ 

!%)).)) !  

% l:6n km|]d :6Sr/ tyf 
km\oflj|S; 

!@)).)) !  

 

gf]6 M != pk/f]Qm s/sf] b/ lgwf{/0f ug]{ k|of]hgsf] nflu cf=j= @)&^÷)&& sf] xsdf :yfgLo 
/fh:j k/fdz{ ;ldltn]  lgwf{/0f u/]sf] hUufsf] d'No nfO{ Go"gtd cfwf/ dflgg] / 
3/sf] xsdf 3/sf] e'O{tnfsf] If]qkmn nfO{ tnf ;+Vofn] u'0ffg u/L cfpg] If]qkmn -
au{ lkm6_ sf cfwf/df d'Nofª\sg u/L s'n ;DklQsf] d'Nofª\sg sfod ul/g]5 . 

 


